\ Special Right Triangles
\ Investigation 1, 45—45-90

1. Complete the table below. (Hint: Draw the right triangle, label what you know, use a’+b*=c?).
Make sure you simplify your radicals!

Lengthof |1 2 3 4 5 6 7 10 X

each leg
A e 7 |WLag 4 |52 |6l |7 Jev |2

hypotenuse

2. Complete the conjecture below.

Isosceles Right Triangle Conjecture — In an isosceles right triangle, if the legs have length x, then the

hypotenuse has length zg\J/?__ -

Investigation 2, 30 — 60 — 90 Triangles

1. Draw an equilateral triangle ABC below. On the triangle provided, draw a perpendicular bisector

through line segment AC and point 8.

V‘ E

2. Llabel the intersection between the line you just drew and AC as point D. What type of triangle

{based on the angles) is triangle BDC? ﬁl g h % . Now, complete the statement below.

In a 30-60-90 right triangle, the shortest ieg is I’\ 4 I F the hypotenuse.
—
3. Complete the table below.

¢ Length of 1 2 3 4 5 6 7 10 a

%@ shorter Leg

Length of 2_ Li é g | o " 17 l¢/ 7 D 2({

hypotenuse

s |2 (205 1393 43 |5/3 €5 |23 |10 |ais

4. Complete the conjecture below.
30 - 60~ 90 Triangle Conjecture - In a 30 — 60 — 90 triangle, if the shorter leg has Iehgth a, then the

longer leg has length q(g and the hypotenuse has length 7“01 ?



